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Checkmate in two moves with “Zugzwang” is difficult for schoolchildren, because the
number of figures in the process of solving chess tasks, makes it difficult for them to orient,
perceive the position quickly and fast. The tasks are simplified and parted through analysis and
comparison.

Schoolchildren should be directed to solve the tasks firstly, then to exclude and compare.
In the result of this, learners' analytic thinking develops, as they become skillful of differentiate
versions. Eventually, solving tasks by themselves helps to increase their self-evaluation.

Key words: chess board, step, checkmate, line, rook, zugzwang, diagram, pawn, king,
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In the general educational system of the republic of Armenia in the process of teaching of
chess as a compulsory subject instructional difficulties are emerging while solving chess tasks. So
that 2-4 year pupils perceive chess tasks in an adequate way and can solve them on their own it
is needed that the trainer choses the most admissive way of presentation taking into
consideration that in the class there is a small quantity of pupil with high level of visualization.
Whereas when the pupil solves the task on its own, then his or her intellectual potential arises,
that inspires the child's confidence upon his intellectual potential's growth. Later we will discuss
several typical chess tasks during which solutions it is preferable to implement the following
methods offered by us®

1) exclusive
2) change of moves
3) selection of moves
4) simplification of the position (artificial)
5) removal of chess pieces from the board
6) sacrifice of the chess piece
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7) mandatory move
8) fragmentation of the move
Of course the above mentioned include specific actions (moves), each of which has its own aim:

analysis of position, strengthening of the position, protection of the king from checkmate,

escape from defeat.

Board 1

The sense of the method of exclusion is that for the simplification of the nominated position it is
needed to consider in mind separately and analyze the role and meaning of each chess piece.
Excluding by turn the role of the chess piece, we find that very chess piece or the chess pieces,
which have primary importance for that chess position due to which it is possible to find the

right way to solve the task.

In the given position (see the board 1) it is black's turn to move and they have to protect
themselves from checkmate. Analyzing the position we one by one exclude the black's chess
pieces "g8" board rook, queen, bishop role in protection of the king from checkmate. The only
chess piece " its "a4" board's rook, and if it is sacrificed the king can be saved .1 Ra4-Na4-h4 2.
Qh6xh4 h7-h5, so the king of black's is protected.

By the way while implementing these actions (methods) the teacher should lead the pupils with

such kind of questions, that will gradually reveal the solution of the given task.
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Board 2

Method of the change of chess pieces turn is applicable in almost all cases when we are solving
the task. Especially while teaching the theme "protection from checkmate" it is needed, that the
pupils see, and imagine the threat of checkmate so that they can organize the protection in
concrete and specific way.

In the given position (see the board 2) its turn black's to move and they have to protect
themselves from checkmate.

Firstly, it is needed to uncover the white's threat. Naturally, when it is revealed with which
chess piece on which board there is a threat of checkmate, then it will be easier to find the way
how to be protected. It's obvious that white 1. Ne4-f6 move threats with checkmate, therefore
black should not allow the given move of knight.

Here it becomes obvious that there is need to play with anoher method, it is mandatory move
method, ed est if the blackmake the first move 1....Rd8-a8+, then white 2. Kal-bl move will be
followed by 2....Be6-f5, curbing the pawn , afterwards winning it the black will gain material
advantage.

Naturally, when it reveals which chesspiece on which board threats with checkmate, then it

will be easier to find a way out of checkmate.

Board 3
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Selection of moves method's is that if by exclusion method it is already revealed the chesspiece
that has primary imporance for that position, then it must be chosen the best possible move of
that chesspiece.

In the given position (see the board 3) it's turn of white to move, they win or they do a
checkmate after 3 moves. If we give black the turn to move it means that we will have saltmate,
ed est white will give the chance to blacks to make a move. Here emerges a question: which
move have to make white. Of course it will be more felicitous if we could decide which black
chesspiece should be given the opportunity to make a move. If we imagine that white make two
steps in a row, then they will reach a checkmate with moves 1.Qb3-c2-c1, therefore the chance
to move will be given to pawn. It's not difficult to see that king of white has 3 opportunities to
move, they are 1. Kh3-g2 or 1. Kh3-h2 are not right as after black's 1....h4-h3 move, white
again have to move with king. Therefore the best is 1. Kh3-g4 move,which will be followed by
black black's move 1....h4-h3, afterwards white will do a checkmate after 2 moves 2. Qb3-c2
h3-h2 3. Qc2-cl1 #.

Due to this method the pupil's accounting and analytical skills start to develop.

Position simplification method is applicable in those cases when it is possible to remove several
chesspieces from the board through exchanges.

The given position (see the board 4) is complicated because there are a lot of chess pieces on the
board, that's why through artificial simplification of the position, after removing d5 and e4
knights, the move that will protect the black from checkmate becomes obvious.

After artificial simplification of the position the white can make a checkmate with the Ng4-f6
move.

Therefore move that protects from chaeckmate is 1....Ra8-a4.

Of course, if exchanges are not possible, then the position may artificially be simplified, so that

the pupils can understand it better and don't get confused.
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Board 6

The method of removal of the chesspiece from the board is applicable in those cases when it is
needed to have a checkmate situation through the removed chesspiece.

In the given task (see the board 6) it's white's turn to move, checkmate after two moves. If we
imaginary remove << c7>> knight, then white will do a checkmate with 1R c1-c8 move. Using
the threat of checkmate with <<b7>> Queen, white will do a move 1Q fl-a6, creating a one
move checkmate situation and if black make a move 1....Nc7xa6, that will be followed by 2.
Rcl-c8 #.

Board 7

Chess piece sacrifice method essence is that: when in the given position as a savior move can be
the sacrifice of the chess piece.

In the given position (see the board 7) the black have material advantage, but it's white's turn to
move and they can escape the defeat due to the rook sacrifice. As suicide rook, white make the
black so that they admit the rook sacrifice. 1Rg5-gl, if the black immidietly takethe rook, then
it will be a saltmate, that's why they make 1....Rcl-c2 move, white continue to sacrifice the
rook 2. Rgl-g2 Rc2-c3 3. Rg2-g3 Rc3-c4 4. Rg3-g4 Rc4-c5,after this move 5. Rg4-g5 , is not

right as the black will exchange the rooks and will win.
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Therefore the white have to continue 5. Rg4-g8+ , the black will have to admit the sacrifice:
5....Kh8xg8 saltmate.

As the final goal of chess is make a checkmate to the competitor's king or protect your own king
from chackmate in precarious position, that's why even the most powerful chesspiece's queen's

sacrifice can be the only move.

Board 8

Mandatory move choice method is also very popular, because the check is the only move that
will make the competitor to refrain from the move' for example from checkmate. Due to
mandatory move the protection party can save some time and rearange its chessspieces.

In the given position (see the board 8) it's black turn to move and they have to be organize
protaction from checkmate.

The white checkmate frome the board <<g7>> , therefore the black's task is to watch <<g7>>
and its only possible if the queen is on the board <<f8>> . The black make a mandatory move
1....Kc2-c5+ 2. Kgl-h1 Kc5-f8, and the king of black is protected from checkmate.

In case of mandatory move, as well as in case of sacrifice the solution of the task becomes
obvious.

Position fragmentation method is applicable in those cases when ther are a lot of chesspieces on
the board. In case of osition fragmentation the task becomes simpler.

In the given position (see the board 9) it's white's turn to move, check mate after 2 moves. In
this position the right to move can be firstly transmitted to blacks , afterwards it can be
fragmented and one by one black's each figure's move can be considered : 1....Ba8-b7 2Rc7-e7
#, 1....Ba8-c6 Rc7xc6 # , 1....Ra7xc7 2.Nb5xc7 #, 1....Ra8-a6(a5,a4,a3,a2,al) 2. Rc7-e7 # ,
1....Bh8-g7 2. Qf4xf7 #,

1....Bh8-f6 2. Qf4-g4 #, 1....Bh8-e5 2. Qf4xe5 #, 1...Bh8xd4 2. Nb5xd4 #, 1....Rh7-g7 2.
Kf4-e5 #,
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1....Rh7-h6(h1,h2,h3,h4,h5) 2. Qf4-f7 #, 1...£7-f6 2. Qf4-e4 #, 1...£7-5 2. Qf4-d6.
We may conclude after the analysis that the white so that save the position "Zugzwang" have to

move with bishop to boars << b3>> that will allow not to break the "Zugzwang".

Board 9

Fragmentation of the position is used when there are many figures (chess pieces) on the
chessboard. In the case of fragmentation of the position the task becomes more affordable.

In the given position (see the board 9) it’s white’s turn to move, and mate after two steps.
Position allows to transfer the turn to the black, then fragment it, and then follow each figures
of black: 1....Ba8-b7 2.Rc7-e7 #, 1....Ba8-c6 Rc7xc6 # , 1....Ra7xc7 2.Kb5xc7 # , 1....Ra8-
a6(a5,a4,a3,a2,al) 2. Rc7-e7 #, 1....Bh8-g7 2. Qf4xf7 #, 1....Bh8-f6 2. Qf4-g4 #, 1....Bh8-e5
2. Qf4xe5 #, 1....Bh8xd4 2. Kb5xd4 #, 1....Rh7-g7 2. Qf4-e5 #, 1....Rh7-h6(h1,h2,h3,h4,h5)
2.Qf4-f7 #, 1...7-f6 2. Qfd-e4 #, 1...£7-f5 2. Qf4-d6 #:

After all we can conclude that in order to preserve Zugzwang pozition white Bishop should go
b3 square , in order not to disturbe (violate) the Zugzwang.

During the presentation of each material it's possible to choose more available method, which
will help pupils to understand the task better and be able to solve it easily. The
psychopedagogical studies of chess peculiarities mostly relate to strategic problems that become
more concretized in frames of the psychological conception and cognitive activity of the
learner/learner’s cognitive activity. This study/research is based on a theory of A.N. Leontev’s
activity conception and P. Ya. Galperin(e)’s phasal formations of mental actions. As chess
essentially includes various actions (analysis, synthesis, calculation, choice...) and operations, it
was more suitable to apply the orienting base of the action and planning, as well as the thinking

scheme as a realization mechanism in frames of this article.
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Let’s try to prove/demonstrate the manifestations of scheme thinking peculiarities, as well as
that of planning to find optimal variant to chess problem solutions in elementary school age due
to “Zugzwang” two-step tasks. No matter what phenomenon or problem one studies, there are
always two cognitive primary processes called analysis and synthesis that he uses both
consciously and unconsciously. Analyzing a phenomenon or a problem means to divide it into
parts, distinguish these parts and characteristic features and relationships with other objects too
either mentally, or with the help of certain objective actions. While applying the “Zugzwang”
method in problem solution, it’s necessary to analyze the proposed position/location for both
black and white sides. But it’s more effective when we start our observation from the possible
steps of blacks. While solving checkmate tasks by the two-step “Zugzwang”, it is useful to apply
the methods of step turn replacement /alteration and position simplification. Due to these
methods we find out the consequences of the possible steps of blacks and deduce which one of
the whites should make a step in order not to deviate/dislocate the “Zugzwang” construction.

In the given position (see the board 10) it’s white’s turn to move, checkmate in 2 moves. Let’s
aplay position simplification method and method of the change of chess pieces turn in order to

solve the task.

Board 10
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General scheme of the analyses of the problem

Let’s observe black’s

possible moves

1...Nf1-d2 1...Bg2-h3 1...e3-e2 1...f3-f2
1...Nfl-g3 1....Bg2-hl
1....Nf1-h2

D 2) 3) 4)
2.Qgl-al# 2.Qgl-g8# 2.b6-b7# 2.Qgl-g2#

1. We conclude, that the white night which is on b3 square, shouldn’t block it’'s own queen’s
path to al square. Therefore, 1.Nb3-a5, 1.Nb3-al and 1.Nb3-cl should be excluded for white.
2. In case of 1...Bg2-h3 we can conclude that 2....Bh3-c8 could be the disturber for 2.Qg1-g8#,
if the white night which in the square e6, previously did a move. In this position we need to
exclude e6 white night’s move 1.Ne6-d8, 1.Ne6-f8, 1.Ne6-g7, 1.Ne6-g5, in order to realize
queen’s checkmate. We also have to exclude 1.Kc7-c8 or 1.Kc7-d8, because of blocking of
queen’s path.

In this position we need to exclude white nights move to ¢5 and d4 from a7-gl diagonal, in
order don’t close the diagonal, which is attacked by queen.

In case of last position it is necessary to exclude 1.Uc7-c6 by white king, that not to disturb to
2.[0glxg2#.

From the above we conclude that only 1.Nb3-d2 this move wasn’t excluded by white, which
means that is the key move for the given problem.

In the given position (see board 11) its white turn to move, and checkmate after two moves.
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CONCLUSION

The problems of “Zugzwang” checkmate in 2 moves are difficult for pupils, because there are
many figures on the chessboard which complicates them. They can’t have easy and fast image
(understanding) of the position, in order to solve it. The problems became easier and fragmented
by means of psychological processes of thinking, analysis and comparison, in case of which the
it’s easier to find solutions.

Therefore, we conclude that the pupils should be guided by their teachers, in order to analyze,
exclude and compare all problems. This method helps pupils to develop their analytic thinking,
they become skillful in the way of version calculation, and finally it helps them to increase

their self-esteem.
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AR i e

uvonNenru

USUoNNkE3UL UG LELUNYUO ¢NroN1NkE3NFLLEND 2UTUYULQUL &Y BruNkh
LUSLPS UUSC vuhMuElrh LNROUUL GNOCLEUSNRU

QUNUMESSUL 4.0, UPUUU3UUL U.Q.

Eplpuyjuth dwwnuyhte juunhpttpp pupy & gypngujubtbph hwdwp, puth
npn  puwnupuwpbph  pYwupwbtwlp swpidwwnwihtt jpunhpubph nwdwt gnpépupwugnid
ndJupugunid Lt upwbg Ynndunpoybini, nhpph wpwg b hbon wwunlbkpugubniu:
dhpnudnipjutt b hwdwnpdwt dhongny punhpubpp wupgtgynid jud wpnhymd Bu
dwubph, npnup wpwyby myyniphtt Eb gupdtund ndnmudubp quaubp:

Typnguljuuttpht  whkwp L nipnnpnbk], npwbuqgh upwbp ulgpnid Jhpnisti
huughputpp, wjinithtnb juunwpbh ugupnidubpr» b hwdwnpnidubp: Upnnibpnid
qupquinid £ unynpnnubph JbEpnswljut dnnwsnnnipjnitp, pwih np tpuip hdnwinid
kb wwpphpulitp hwoquplbjhu: b Jbpen’ jughplbph hipumipnyt mskp tywunnid
E tpEluwttiph huptwqtwhwwnwljwuh pupdpugdwinp:
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Zhlbwpwntkp. Cwpidwwnuwghtt nupw, puy, dwwn, ghs, twduwl, gniggqulg,
npudwghp, ghtnp, wppw, pugnihh:

PE3IOME

COBOKYITHOCTD JIENCTBUM BKJIIOYEHHBIX B MBIIIIJIEHUU U MAT U3 IBYX IIIATOB B
ITPOLECCE PEIIEHWA 3AJAYN

KAPAIIETAH B.C., MUCAKSH C.3.

JIByX1IaroBple MaTOBBIE 33]1a4d CJIOKHBI JUIS IIKOJBHHUKOB, TaK KaK KOJIMYECTBO IIAXMaTHBIX
¢buryp B mpoliiecce perieHus MaxMaTHbIX 3aJa4 3aTPyAHSIET OPUEHTUPOBKY B MO3UILIUHU, OBICTPYIO U
OpocTyro ee Buzyanuzaiuio. [Ioucky pemeHuil crnocoOCTBYeT yHpolleHHe JUO0 paclierieHue
3aJlauyd Ha 4acTH MOCPEACTBOM MX aHaju3a U conopuyuHeHus. IlIkoapHMKaM HEOOXOJMMO OMOYb,
PEKOMEH1ysl CHadaJla IIPOAHAIM3UPOBATh 3a7ady, 3aT€M CHENIATh «UCKIIOYECHUS» U CONOIYMHEHUS.
B pesymbraTte, mpormecc mpuOOpeTEHHS OIBITa B pacyeTe BapUAaHTOB PA3BUBACT aHAINTHYECKOE
MbllUIeHHe ydyamuxcsa. CaMOCTOSATENbHOE pellleHHe MIaXMaTHBIX 3a/1a4 CIIOCOOCTBYET MOBBILICHUIO

CaMOOIICHKH IIKOJbHUKOB.

KuroueBble ci10Ba: maxmMaTHOE I0OJ€, Iar, MaT, JJUHUS, JIa/Ibs, IYTIBAHT, JUarpaMmMa, CIellka,
KOpOJib, hep3b.

Swywgpnipjub E Epuwouwynpl)] dhpwqqujht gpnudwjuntp L. Unduhujwbp 15.09.2020p.

102



